Varianta 28

[1.
13. a) Fie x nurarul copiilor. Obiectul cogt 20x + 5 lei, respectiv30x — 25 lei, deci
20x+5=3- 25> 18= 368> x= :
b) Obiectul cost 20(B+ 5= 6ei.
14. a) 2+a=§:>a=};§—b=§:>b:—1.
2 22 2

b)f(X):2X+1 si S:(Zﬂ+1)+(2[}2+éj+(2]3+_lj+ +( EZ(}_]'J: 43(
2 2 2 2 2
C) 2X+£S 2[€§X+1j+1:>xﬂ{—§ ;+oo}_
2 2 2
3
15. b) ! f:54ﬁ«;:>|3: 6=1= €= AB=6cm.

c¢) FieM mijlocul laturii AB= MC [0 AB; MC 0 BB'= MC [1(ABB")
MC O (MCB') = (MCB") O (ABB").
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d) Vivecs: =93 ¢ Viygcp: = Aycs: [ (B;(MCB')) % = d(B,(MCB")) =—cm.



